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� Do what your teacher
tells you.

4 – 3 =

2010

25 Twenty-five
How many
starfish?
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tens onestens onestens onestens onestens ones
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� Watch for + or – .

4 – 3 = 3 – 2 = 4 + 0 = 4 – 2 =

2 – 1 = 3 + 2 = 3 – 1 = 5 + 0 =

1
3+ +

Write the twins.

3
2+

2
3+


 Underline the number that is less.  Trace or write the symbols.

1221 614 198>

No 
New 
Facts
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� Write the number that is one less.

15 20

�

– =

�

times

�
2

– 1
3

– 1
4

– 1
7

– 1
1 2

–  1
1 8

–  1
2 6

–  1

26 Twenty-six

10 + 10 + 1 + 1 + 1 + 1 + 1 + 1 =

tens + ones

4 –1=

=
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� Read these numbers aloud to your teacher. 

12 35 18 42 24 15 37 10 29

	 3
–1

4
–3

2
–1

4
–2

3
–2

4
–1

= 

1 2 3 5 7 8 9

�

�

¢
�
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Watch for + or – .

4 – 1 = 3 – 1 =

2 – 1 = 4 – 2 =

0 + 5 =

4 – 3 =

3 – 2 =

4 + 0 =

1 2 1 4 1 3 7 9

� Write the number that is between.

46   50-

No 
New 
Facts
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�

� Watch for + or – . 

4
– 3

4
– 1

2
– 1

3
– 1

0
+4

3
–2

4
– 2

5
+0

51   55-

27 Twenty-seven

=
tens ones

No 
New 
Facts
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�
3

– 2
2

– 1
4

– 3
5

– 4
9

– 8
1 4

– 1 3
1 7

– 1 6

�

�

5 – 4 =

28 Twenty-eight

nuts

apples

�

212010
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� Do what your teacher tells you.

�
4

–2
3

–2
4

–3
4

–1
3

–1
2

–1
5

–4

�

	 56   60-



Lesson 28
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28

� Write the number that is one less.

12 18

Watch for + or – .

5 – 4 = 3 – 2 = 4 – 3 = 3 – 1 =

0 + 5 = 4 – 1 = 2 – 1 = 4 – 2 =

4 6 8 1 0 2 4


 Write the number that is between.

¢ No 
New 
Facts


